SHEEE TRI—X 94 8— 5 —L N\oT14xX vy TE
AR—YNNILERDE  SF6FE1818-19H
10m APG60OMW

JIE £z K 4 i@ |23A| Hi#&E | HDCP | HCRi#&E EH
1 KEWR F FERE | D 526 28.3 554.3 AP60
2 Eme Bsh | B/NSE| S 545 30 548.0 AP60
3 EH REF | ER# | B 531 15.3 546.3 AP60
4 AL = IR | G 542 0.3 542.3 AP60
5 IR A F#ESE | B 535 7.0 542.0 AP60
6 £ A KRR | G 515 25.7 540.7 AP60
7 it =& Rm#E | S 543 -3.0 540.0 AP60
8 FHL s LER | S 495 450 540.0 AP60
9 B g8t RE#E | S 532 7.3 539.3 AP60
10 B R KBRFF B 541 -3.0 538.0 AP60
11 MR EE =ER | S 524 133 537.3 AP60
12 =5 AR HER B 531 3.7 534.7 AP60
13 | BHR B | ZER | G 532 -4.3 527.7 AP60
14 BEE AR FERE | S 496 31.3 527.3 AP60
15 T X IWREEB | G 490 37.0 527.0 AP60
16 =1 = BHE | G 401 1250 | 526.0 AP60
17 3 HR# | G 470 28.7 498.7 AP60

10m ARBOMW

JIE £z K 4% i@ |23A| Hi#& | HDCP | HCRi#&E EH
1 K EE EER | G | 5143 90.8 605.1 AR60
2 I8E A FEER | S 563.0 28.6 591.6 AR60
3 fmk ME EHME | G 585.4 4.1 589.5 ARG0
4 FIE FF HE# | G | 5628 24.3 587.1 ARG60
5 FE R BEE | S 579.0 6.3 585.3 ARG0
6 BE AR FERE | S 5944 | -128 | 581.6 ARG60
7 FiE BE BEE | S 523.5 55.6 579.1 ARG0
8 R —% BRI P 571.1 7.9 579.0 AR60
9 =0 F mENE|l S 6000 | -219 578.1 AR60
10 EE EE =ER | S 563.9 12.0 575.9 ARG0




11 WM =E BHE | G 532.9 40.2 573.1 AR60
12 g 8% F5 R B 606.5 -33.9 572.6 ARG0
13 Z=R R B8R B 606.3 -34.6 571.7 AR60
14 BR e |[#FRINE| D 551.0 145 565.5 AR60
15 2/8 &M |BH/N\ZE&E| B 586.3 -30.7 555.6 AR60
16 B8Rt HE# | S | 57112 | -211 550.1 AR60
17 | /NAS BLAE |#HFRINE| S | 4872 51.6 538.8 AR60

10m P60M

JE iz K 4 & |273A| HFf&E | HDCP | HCRi#&E B
1 M =E BHE | G 616.6 16.5 633.1 ARG0OPR
2 BIK A& EER | S 618.0 6.7 624.7 ARGOPR
3 IGH 7 FEER | S 600.3 21.1 621.4 ARG60PR
4 EH ft |B/AASE| S | 6298 -9.7 620.1 ARGOPR
5 R & H/X5:E| B 618.1 15 619.6 ARGOPR
6 FIR FF HEE | G | 6241 -5.8 618.3 ARGOPR
7 ARl k¥ |B/\Z&E| B 625.9 -8.4 617.5 ARGOPR
8 EBF BEF¥ |B/NZE| G 606.0 11.0 617.0 ARGOPR
9 R RE# | G 623.4 -6.7 616.7 ARG60PR
10 B2 B | B/N5E| B 6256 | -104 | 615.2 AR60OPR

50m 3 Xx20MW

JIE £z K % i@ |23A| Hi#& | HDCP | HCRi#&E EH
1 ey &X ZIE S 535 16.0 551.0 50m3x20
2 A #x =8 D 538 12.7 550.7 50m3x20
3 =R B Fa [ B 555 -8.0 547.0 50m3x20
4 ZH Bt 3= G 535 11.7 546.7 50m3x20
5 Bk ME =50 G 534 11.0 545.0 50m3x20
6 =H F &N | S 551 -7.0 544.0 50m3x20
7 ¥2A8 BE |/N\S5HE| B 560 -240 | 536.0 50m3x20
8 BIR fle= BN D 503 30.3 533.3 50m3x20
9 INHS ShE | E S 422 82.7 504.7 50m3x20
10 Il BR— #ZEJ)Il | Ds 168 26.3 1943 | 50m3x20s




50m P60MW

JE £z K 4 i@ |23A&| HFf&E | HDCP | HCR#&E B

1 KiE BFH FMEE | Ds | 5796 50.9 630.5 50mP60s
2 fik EB BES | D 571.3 55.7 627.0 50mP60
3 =H ME KRR | D 596.0 23.2 619.2 50mP60
4 | 8% FBEE | B 614.1 0.7 614.8 50mP60
5 B BT B/\SE| G 596.0 185 614.5 50mP60
6 AH EiE REE | D | 5900 24.3 614.3 50mP60
7 B2 St KRR [ D 586.4 26.9 613.3 50mP60
8 K A& EER | S 589.1 24.1 613.2 50mP60
9 iR =1 REFF | Gs | 6135 -0.6 612.9 50mP60s
10 AH EE HE#R | Ds | 5993 13.0 612.3 50mP60s
11 AR R¥ |(H/N\ZE| B 603.8 8.0 611.8 50mP60
12 Bl iE— EER | D 593.2 18.3 6115 50mP60
13 AR EE ZHE | D 597.0 14.1 611.1 50mP60
14 R == RERRF | G | 6028 8.3 611.1 50mP60
15 28 B |H/N\TE&E| B 609.8 1.1 610.9 50mP60
16 M BUE AIE | Ss | 609.7 0 609.7 50mP60s
17 | K& BXER |H/NSE| B 607.6 1.6 609.2 50mP60
18 | BHR B | ZER | G 607.9 05 608.4 50mP60
19 #® BIE GHNER | S 593.8 135 607.3 50mP60
20 FEHE ft | B/ANZE| S 623.5 -16.2 607.3 50mP60
21 nEe 8k EIRE | S 599.2 8.1 607.3 50mP60
22 Rl = (#EIIE| D 607.2 -0.1 607.1 50mP60
23 MR RE BHE | G 604.8 0.7 605.5 50mP60
24 Il EX RE# | D 594.4 105 604.9 50mP60
25 Al At EER D 577.0 27.8 604.8 50mP60
26 A #k =ER | D 596.4 7.6 604.0 50mP60
27 R RR# | G 601.4 2.3 603.7 50mP60
28 BR e |[#FRINE| D 588.9 13.9 602.8 50mP60
29 | Bikk®E EF | #EE | Gs | 6120 -9.2 602.8 50mP60s
30 B2 B IR | D 590.2 125 602.7 50mP60
31 ARE B | FEER 591.0 10.7 601.7 50mP60
32 #H MR ZHIE | Ps | 586.7 14.6 601.3 50mP60s




33 =H F AmRIE| S 603.3 -3.4 599.9 50mP60
34 XE B— BHIR 603.5 -4.3 599.2 50mP60
35 EE BN |BNTE| B 607.6 -8.6 599.0 50mP60
36 NS @SR | Ds | 6038 -6.2 597.6 50mP60s
37 £l #/E KRR | G 592.5 2.8 595.3 50mP60
38 i EX =ER | Ds | 5945 0.7 595.2 50mP60s
39 Bl B¥ |B/\ZE| G 548 .4 46.8 595.2 50mP60
40 i N H/\ZE 595.6 -1.4 594.2 50mP60
41 wme X ZHE | D | 5718 20.3 592.1 50mP60




